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ÍÛæ̃ Û¶ÛÛ :   (1) ¤æ×øïõÛ …¶Ûé ¾Ûä°ùÛÍÛÁõ ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé.  

Instructions :  Write short and precise answers. 

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é þùÉÛÛÙÈÛéÅÛÛ …×ïõ ¸Ûé¤øÛ ¸ÛóÊ¶Û¶ÛÛ ¸ÛæÁõÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé.  
     Figures to the right indicate full marks of the sub-questions. 

 

 

1. (a) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 8 

  Answer any two of the following : 

  (1) ¸ÛóÜ©ÛÝ¼Û¼ÛïõÛÁõà ¼ÛÛ›ä÷…Ûé …é¤øÅÛé ÉÛä× ? ©Ûé…Ûé¶Ûä× ¶ÛÛ¾ÛïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé.  
    What are enantiotropic faces ? Explain their nomenclature. 

  (2) ÐüÛé¾ÛÛé¤øÛȩ́ Ûàïõ ¸ÛÁõ¾ÛÛ¨Ûä…Ûé, ÍÛ¾ÛæÐüÛé …¶Ûé ¼ÛÛ›ä÷…Ûé …é¤øÅÛé ÉÛä× ? ýÛÛé•ýÛ ŠþùÛÐüÁõ¨Û …Û¸Ûà 
ÍÛ¾Û›ÛÈÛÛé. 

    Explain homotopic atoms, groups and faces with suitable example. 

  (3) ’éõ¾Û¶ÛÛé Ü¶ÛýÛ¾Û ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé. 
    Explain Cram’s rule with example. 

  (4) Ü¸ÛóÅÛÛé•Û¶Ûä× ÍÛÛ¾ÛÛ¶ýÛàïõÁõ¨Û ýÛÛé•ýÛ ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé.  
    Explain Prelog’s generalization by giving suitable example. 

 (b) •Û¾Ûé ©Ûé …éïõ¶ÛÛé ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 6 

  Answer any one of the following : 

  (1) ¶ÛÛˆ¤ÖøÛé›÷¶Û µÛÁõÛÈÛ©ÛÛ ïõÛ¼ÛÙÜ¶Ûïõ ÍÛ×ýÛÛé›÷¶ÛÛé¶ÛÛ …ÈÛïõÛÉÛ ÁõÍÛÛýÛ¨Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

    Discuss the stereochemistry of organic compounds containing Nitrogen. 

  (2) ºõÛéÍºõÁõÍÛ µÛÁõÛÈÛ©ÛÛ ïõÛ¼ÛÙÜ¶Ûïõ ÍÛ×ýÛÛé›÷¶ÛÛé¶ÛÛ …ÈÛïõÛÉÛ ÁõÍÛÛýÛ¨Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

    Discuss the stereochemistry of organic compounds containing phosphorus. 
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2. (a) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 7 

   Answer any two of the following : 

  (1) ¤ÖøÛȩ́ Ûà¶Û¾ÛÛ× (–CH2CHOH CH2–) ÍÛ¾ÛæÐü¶Ûà ÐüÛ›÷Áõà ¸ÛäÁõÈÛÛÁõ ïõÁõÛé.  

    Prove the presence of (–CH2CHOH CH2–) group in Tropine. 

  (2) ¸Û¸ÛÛÈÛÜÁõ¶Û¶Ûä× …ÛéÜîÍÛ¦éøÉÛ¶Û ˜Û˜ÛÛë.  

    Discuss oxidation of Papaverine. 

  (3) Ü¶ÛïõÛé¤øà¶Û¾ÛÛ× Ü¸ÛÁõà¦øà¶Û …¶Ûé ¸ÛÛýÛÁõÛéÜÅÛ¦øà¶Û ÈÛÅÛýÛÛé ÈÛ˜˜Ûé¶ÛÛ ›Ûé¦øÛ¨ÛÍ¬ÛÛ¶Û …×•Ûé¶ÛÛ ¸ÛäÁõÛÈÛÛ 
…Û¸ÛÛé.  

   Give evidence for the attachment position between Pyridine and Pyrolidine 

ring in Nicotine. 

  (4) ïõÛé¶Ûà¶Û¶Ûä× ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé.  

   Give synthesis of Coniine. 

 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 7 

  Answer any two of the following : 

  (1) ÜÍÛ¤ÖøÛÅÛ¶Ûä× ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé. 
   Give synthesis of Citral. 

  (2) ïéõ¾ºõÁõ¾ÛÛ× ÍÛÜ’õýÛ Ü¾Û¬ÛàÅÛà¶Û ÍÛ¾ÛæÐü (–CH2CO–) ¶Ûà ÐüÛ›÷Áõà ¸ÛäÁõÈÛÛÁõ ïõÁõÛé.  

   Prove the presence of active methylene group (–CH2CO–) in Camphor. 

  (3) β-ïéõÁõÛé¤øà¶Û¾ÛÛ× ÅÛé¤øÁõÅÛ Ü¾Û¬ÛÛˆÅÛ ÍÛ¾ÛæÐü¶Ûà ÐüÛ›÷Áõà ¸ÛäÁõÈÛÛÁõ ïõÁõÛé.  

   Prove the presence of lateral methyl groups in β-Carotene. 

  (4) α-¤ø¸ÛâÜ¶Û…ÛéÅÛ¶Ûä× ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé. 

   Give synthesis of α-terpineal. 

 

3. (a) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 6 

  Answer any two of the following : 

  (1) ¾ÛÛé¦Ùø¶¤ø Á×õ•ÛïõÛé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write note on Mordant dyes. 

  (2) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé ƒ …éÜÅÛ¡öÁõà¶Û 

   Give synthesis of Alizarin. 

  (3) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé ƒ ˆ…ÛéÍÛà¶Û 

   Give synthesis of Eosin. 
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 (b) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé ƒ 4 

  Give synthesis of any two of the following : 

  (1) ¤éø¤ÖøàÅÛ 
   Tetryl 

  (2) ¶ÛÛˆ¤ÖøÛéÜ•ÅÛÍÛÁõà¶Û 

   Nitroglycerine 

  (3) PETN 

 (c) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé ƒ 4 

  Give synthesis of any two of the following : 

  (1) …ÛÅ¦Öøà¶Û 
   Aldrine 

  (2) Ü¾Û¬ÛÛéîÍÛàîÅÛÛéÁõ 

   Methoxychlor 

  (3) ¸ÛéÁõÛ¬ÛàýÛÛé¶Û 

   Parathion 

 

4. (a) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 8 

  Answer any two of the following : 

  (1) …ÛíéÌÛµÛÛé¶Ûä× ÈÛ•ÛâïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé.  
   Explain the classification of Drugs. 

  (2) ïéõ¾ÛÛé¬ÛéÁõÛ¸Ûà ÜÈÛÌÛé ¶ÛÛêµÛ ÅÛ”ÛÛé.  

   Write a note on Chemotherapy. 

  (3) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé. ¼Ûé¶¡öÛéïéõ†¶Û, ¤øÛéÅ¼ýÛä¤øÛ¾ÛÛˆ¦ø 

   Give synthesis of Benzocaine and Tolbutamide. 

 (b) ÜÈÛ¤øÛÜ¾Û¶Û-A (Áéõ¤øà¶ÛÛéÅÛ) …¬ÛÈÛÛ ÜÈÛ¤øÛÜ¾Û¶Û-B6 (Ü¸ÛÁõà¦øÛéîÍÛà¶Û)¶Ûä× ¼Û×µÛÛÁõ¨Û ¸ÛäÁõÈÛÛÁõ ïõÁõÛé.  6 

  Prove the structure of Vitamin-A (Retinol) or Vitamin-B6 (Pyridoxine). 

 

5. ¶Ûà˜Ûé¶ÛÛ¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ 14 

 Answer the following in one or two sentences : 

 (1) Ü³ÜÈÛ¶ýÛÛÍÛïõÛÁõïõ ¸ÛÁõ¾ÛÛ¨Ûä× …é¤øÅÛé ÉÛä× ? 

  What is diastereotopic atom ? 
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 (2) ¸ÛóÛéÜïõÁõÛÅÛ ïéõ¶®ù …é¤øÅÛé ÉÛä× ?  
  What is prochiral centre ? 

 (3) Ü¶ÛÁõ¸Ûé“Û ÜïõÁõÛÅÛ ÍÛ×ÊÅÛéÌÛ¨Û …é¤øÅÛé ÉÛä× ?  

  What is absolute chiral synthesis ? 

 (4) ÜÈÛÜÉÛÌ¤ø …ÛˆÍÛÛéÜ¸Ûó¶Û Ü¶ÛýÛ¾Û …Û¸ÛÛé.  

  Give special isoprene rule. 

 (5) β-ïéõÁõÛé¤øà¶Û¾ÛÛ× …Û¸ÛéÅÛÛ π-¼Û×µÛ¶Ûà ÍÛ×”ýÛÛ ›÷¨ÛÛÈÛÛé.  

  Give number of π-bonds in β-carotene. 

 (6) ¤ÖøÛéÜ¸Ûïõ …éÜÍÛ¦ø¶Ûä× ¼Û×µÛÛÁõ¨Ûà ÍÛæªÛ …Û¸ÛÛé. 

  Give structural formula of tropic acid. 

 (7) ¾Ûé¤øÛÐéüÜ¾ÛÜ¸Û¶Ûàïõ …éÜÍÛ¦ø¶Ûä× ¼Û×µÛÛÁõ¨ÛàýÛÍÛæªÛ …Û¸ÛÛé.  

  Give structural formula of metahemipinic acid. 

 (8) ïéõ¾ºõÁõ¶ÛÛé …Ûíé²ÛéÜ•Ûïõ Š¸ÛýÛÛé•Û ›÷¨ÛÛÈÛÛé.  

  Give industrial use of Camphor. 

 (9) Áõà…éî¤øàÈÛ ¦øÛˆ¡ö ïõÛé¶Ûé ïõÐéü ™öé ?  

  What are reactive dyes ? 

 (10) …éÜÍÛ¦ø Á×õ•ÛïõÛé¶ÛÛ ¼Ûé ŠþùÛÐüÁõ¨Û …Û¸ÛÛé.  

  Give two examples of acid dyes. 

 (11) ›×÷©Ûä¶ÛÛÉÛïõÛé …é¤øÅÛé ÉÛä× ?  

  What are pesticides ? 

 (12) ÜÈÛ¤øÛÜ¾Û¶Û-A1 ¶Ûà Š¨Û¸Û¬Ûà ¬Û©ÛÛé ÁõÛé•Û ›÷¨ÛÛÈÛÛé.  

  Deficiency of Vitamin-A1 responsible for which disease ? 

 (13) ¡éöÅÛà¸ÅÛÛé¶Û¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ›÷¨ÛÛÈÛÛé.  

  Give use of Zaleplon. 

 (14) ÍÛÅºõÛ¦øÛýÛ¡öà¶Û¶Ûä× ¼Û×µÛÛÁõ¨ÛàýÛ ÍÛæªÛ …Û¸ÛÛé.  

  Give structural formula of sulphadiazine. 

_____________ 


